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Ch
. 11 Turbo Machinevy (터보기계 )

Fluid Machinerg C유체기계 )

① Pump i Nose which address to fluid
To

Extraof a from a② turbines i " "
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→ usuo.ly Connected to a

rotatngshaftatarbo_emachimergspim.aoh.ie
• Working fluid is Liquid → pump

gas → En : 0pA is Small

bloweriopiswptolatm.com
Pressor : a above "



a Classification of pumps

① positive _ diPlacement pump ( PDP)

E
tores theird doing meditation

by Volume Change → o p M

effect ve in hand Iing his h U fluid

② dynamicpumpiaddspomennn.ws to fluid by means of
Fast Moving Blade or Van es or
.
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• Centregal pump (원심펀드 )
나 PT
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Efficieugwetheo.cl : H = etEtZh - (討詐引二
hs-hfd.aeloss
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Power delive.ve d to fluid The = e H Q Q : discharge

(Water have Power)

Power required to desire The pump
bh p = o T

(Drake Loose Power ) oishaftangdarve.IT
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Etfiaag 다 몿p = 8매우 < 1 ~ 0.9

loss ① loss of fluid due to leakageintheimpeller-casimgekaro.ae
② Shock loss at He eye between im
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• Euler_turbomack.me eqs .
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⇒ 믋+z塚竺怨맚쌃윖.
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Axial-flowpumfefe.ro#ii!t.ielicre.Turbimes
① reaction turbine : blo.de

② inpute i : hish - Speed stream STS0TF
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turbine theory
① -② : 도수 = - F = ni ( 날 - Y ) 나 그림 = V

⑤ -@ : 도 Ex = ( B -R) A - F = S ( Van Vs) = 0

→ F = ( B - Da ) A = mi (Y - 일) = SA V (다날)



BernouHieqiPattsVF--BtIeri10-@Pattfv2-P.ttvE
→ P5Pa = 초이다-VE) = f V (나는)

⇒ V = NYNa)

Power R = F .
V = SA에나날) E 후 8A (5-5) (UND

Given V . , Max P

쫆 = o → VE by → Bmoni TAP
Railable = inT.ttAP

Power efficie.gg
= 부자에
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